KCL

DVQ Series Single Pump Ordering Code
DVQ # 3| ¥ R 78445 3]

DVQ20
Weight : Flange Type 12.5 Kg
Foot Type 15 Kg
DVQ25
Weight : Flange Type 18 Kg
Foot Type 23 Kg
-26 -F -R A A 01
Model number | Displacement Mounting Type| Rotation |Discharge Position| Suction Position| — Shaft Type
ARk celrev ek & | REF K % @ oo B #® oo f % W 3 A8 2R
View from A A
DVQ20 | 171532 e I G N N
38,44 F: R: B: B:
Flange Clockwise Downward Downward
Type )G B 4+ T T
SRR R: R:
18,22,26 L: On Right On Right
DVQ25 32,38,43 L: Anti- Hand Hand
47,52,60 Foot Clockwise| #i% %%
65,75 Type R4+ L: L:
HAll R 4 On Left On Left
Hand % i% Hand % i%
Deliver Flow (¢ /min)  at no-load pressure Running Speed Max Pressure
REARGBEAE (rpm) #ig ( Keflem® )
Model Running Speed ~ (rpm)  #i& Max Min B k)
e 1000 1200 1500 1800 AR /N1 Cont. | Peak.
06 6.2 7.4 9.3 11.2 1800 800 210 260
08 8.1 9.7 12.1 14.6 1800 800 210 260
11 11.2 13.4 13.4 20.1 1800 800 210 260
14 14.3 17.1 21.5 25.7 1800 800 210 260
DVQ20 17 17.1 20.5 25.6 30.7 1800 800 210 260
19 19.2 23.0 28.8 34.5 1800 800 210 260
23 23.3 27.9 349 419 1800 800 210 260
26 26.1 31.3 39.1 46.9 1800 800 210 260
32 32.1 38.3 47.6 —_— 1500 800 175 240
34 34.1 40.8 50.4 —_— 1500 800 175 240
38 38.1 45.9 e — 1200 800 175 240
44 44.1 52.9 e — 1200 800 175 210
18 18.1 21.7 27.2 32.6 1800 800 210 260
22 22.1 26.5 333 39.8 1800 800 210 260
26 26.2 31.4 39.3 47.1 1800 800 210 260
32 32.1 38.5 48.1 57.7 1800 800 210 260
DVQ25| 38 38.2 45.8 573 68.7 1800 800 210 260
43 43.2 51.8 64.8 71.7 1800 800 210 260
47 47.1 56.5 70.0 85.0 1800 800 210 260
52 52.3 62.7 78.4 94.1 1800 800 210 260
60 60.2 72.7 90.3 108.3 1800 800 210 260
65 65.3 78.3 97.9 117.5 1800 800 210 230
75 75.0 90.0 112.5 e 1500 800 210 230




KCL

DVQ Series Single Pump Dimensional Drawing

DVQ % 5| £ R M R T B

DVQ2

Max.

0 Max. Pressure: 260 Kgf/cm? (Peak)
Speed: 1800 rpm

ﬁ_ I I

2-¢11 HOLES @18 SPOTFACER

1 DEEP

_]!— I o
DISCHARGE PORT @19 - 63 j: ' b Ky N i
(=1
TION PORT @32 4-M10X1.5P : el
[ 2 ~oerrr & A 1 A <> B
_% e = 50 56|.5 T Jos
=0\ &\ § < 05 |o75 725 7.5
? &) 180
> Y N 414
& NI A% =
L Q/ \e o/ 7] 344 Foot Type (/2 &)
H k 4l A[B]J[C
30.2 -
b2 ] i%“‘:hssh?ft NO.01-Shaft [#19.05 21.24| 4.76
4-M10X1.5P-DEEP 19 -Teeth Spline -
_— 7/8" (22.225)DIA NO.02-Shaft |¢22.23| 24.5 | 4.76
30° pressure angle NO.03-Shaft [22.23] 25.01] 6.35
Flat root side fit NO.04-Shaft | Spline shaft
197.5 -
. 130
71 275, 57 4 "
ws | 2979
o O | R <| = o ——
e g | 32 | 45 .
2 . B N 72\ I
a A\ N =
2
e 2-611 HOLES k/
18 SPOTFACER
1 DEEP
5 222
D 2 Max. Pressure: 260 Kgf/em~ (Peak) 381 4-613.5 HOLES
VQ 5 Max. Speed: 1800 rpm 83 o 595 $21 SPOTFACER 1 DEEP
-IB-’TT[ s f
DISCHARGE PORT 825 ‘;
13
SUCTION PORT 839 a5 & |
gr_ \ N g i — iid
i 0. 5 |[F5 60 |73 120
—[©\ & B\ © 115 |38 |%ﬂl o
o N R N 230
€ \V \ d [ o Foot Type (Fép & &)
4-M10X1.5P DEEP 17
357 NO.04-Shaft A | B C| E
263 2l suse 16/32 d.p. NO.01-Shaft [#22.23] 24.5 ] 6.35] 50.5
4-M12X1.75P-DEEP 19 T .. _13teeth NO.02-Shaft [#254 | 28.18] 6.35| 50.5
Sl 30 pressure NO.03-Shaft | 30 | 33 | 7 | 59
A angle Flat root NO.04-Shaft | Spline shaft
side fit.
162.5
171
83 38.1], 95 §_2 146
HFS
A < = o m——
2 Eg E "
< : = s R
i { JranY Jan VA
= Y/ WV N2
(=1
_§ s 2-¢13.5 HOLES \\/
B ' 821 SPOTFACER | DEEP




KCL

VQ Series Single Pump Dimensional Drawing

VQ %

ERSMAURTHE

VQ45

Max.

Max. Pressure: 175 Kgf/em® (Peak)
Speed: 1800 rpm

336

4-¢17.5 HOLES

110.2 135

826 SPOT FACER 1 DEEP

DISCHARGE PORT 938 T @
SUCTION PORT @75  4-M16x2.0P-DEEP 19 / - NN J- {/
I, 2%
JE_ \ L\ w & Fany ] A o
- NEEREt N Al ANz awA AR b
7 NENEN 3| o = 2
A% A vl & / H =
ENRSY ~ 1\ =
2 A AN b= gﬂ i i
2 I\ AN = 762 o5 _ 151
N 131 59 | 117.5 | 117.5 |
g — | S 'yl 274
4-M12x1.75P-DEEP 19 Foot Type (%T,E‘Eﬂ )
—
61.9 35.7
336
110.2 135 211
52 83 181
= e N I o T—T— 11
_E_’ ’ N B N ' (2= e N
" Umd— / \ 2-917.5 HOLES
ES o / \ $26 SPOT FACER 1 DEEP
o L et =% Y. AW
5 Ny \\5), N7
=1 [ 5 s /
E I | p,
13
) 2 4-922 HOLES
DVQ 45 Max. Pressure: 175 Kgf/cm™ (Peak) 43 SPOT FACER 1 DEE?
Max. Speed: 1800 rpm
e il |
2, _ AT
& i N
13 NG
4-M16x2.0P-DEEP 19 pu ®
SUCTION PORT 875 \ 61.9 35.7 -
)
RN . 5 114.3 L 280 |
= > g 39 37 46
— - — % 185
- \ f AT ) & 438
S € 4
= ]
\kjb/ ‘ &&k_r/ Foot Type (B e 2! )
337 273 |
111 126 2286
43 83
a 3 7> I : . I
T < homl N
m= 2o =3 = T
T | =l g - N~ %
[ ] L SH 70 S 2
4 | f | | Ay < —
1B N
B Van) 2
< N AR ’ QJ/ 5
S <
o
P ;
p ‘ :
-\ 7 A I
\"— 7 H —
H 4-822 HOLES

|
f

35 SPOT FACER 1 DEEP




